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2.. There are total 8 questions. Answer any 5 questions.
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1. (a) ‘;Wage inconie increases have a stronger impact
on fertility reductions than rental income
increases.” Comment. Extend this argument to
societies where only women 'look after children. -

®)

(b) Where the family related externalities are typically
negative, private fertility choices generally lead to’
overly large number of children. Explain. = (7)
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3 Inja duai eConofny frame\york, highlight the
| asymmetries' that exist ’between the traditional
agrlculture sector and the modern 1ndustr1al sector.
Explaln 1n deta11 the model of economlc development
where development proceeds via a joint transfer of
labour and agrlcultu_ral su_rplus from the agrlcultural

to the industrial sector. (6,9)
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3. Changes in d1stubutlon of wcalth holdings among
individuals in a rural economy have the power to
increase the overall output in the economy. Discuss

1in detail. ; = - (15)
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e Explgi.n why, in -'i'nfo.rmal' rural credit markets, the
mdnéylen.d'e'r;’s Iﬁreférred contract involves credit
rationing even in the situatibn *éf existence of excess

demand for loans. Y ' - (15)
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5. (a) Explain, through use of numerical example, why,
in the presence of limited liability of the borrower,
needs of rural credit cannot be adequately
served with the use of formal money lending

institutions? (6)

(b) “If vertical links'arccstablishcd between the
formal and the ’infomml le11dcrs in rural mdrkcts,
by way of expansion of formal credit to informal
lenders, it will 1nvar1ably lower the interest rates

for small borrowers.” Discuss. | 9)
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6. It.is not the developing countries that are respons

~ for the high levels of global pollution, Why then, lﬂ

your opinion, is it necessary for them to take strong
rol any further

(15)

steps to mitigate the pollution and to cont

environmental damage?
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In the light of fault lines as discussed by Raghuram
Rajan, evaluate the financial crisis that occurred in
the -US in 2007. What lessons do the developing

countries need to learn from the US experience?

(15)
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g. Write short notcs\on any two of the following :

(7.5%2)

(a) Social norms that create a high degree of
-conformism, attribute to high levels of fertility.

Discuss.

(b).If the agriCu_lturalWage Wa is $300, urban formal
> ;wag'e W, is $1000‘ and urban informal wage W,
is '$500, will a_potential migrant move to the
urban sector if the probability of getting absorbed
. in the urban formal sebtor is 0.5 and tﬁe probability '
of ending Iup in the “urbar.i infd‘r'malv sector ‘is’

1 0.7?
(c) Differentiate between moderaté globalisation and
hyper globalisation. |

(d) Measurement of sustainability of development.
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